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Bio-Botany

I. Answer all the following: 3x1=3

1. Dimethyl sulphoxide is added during cryopreservation because
it

a) reduces the temperature

b) helps in enzymatic activities

c) protects tissues from stress of freezing

d) maintain tissues in dormant condition
2. An anti-carcinogenic substance got from catharanthus species

3. Choose the correct pair:

a) Cybrid — Fusion of cytoplasm

b) Agar — Differentiation

c) Callus — Marine algae

d) Rheumatic pain — Digitalis purpuria
II. Answer any 3 of the following: 3x2=6
4. What is meant by Totipotency?
S. What is the role of GEAC?
6. What is PEG?
7. What are Artificial seeds?
III. Answer any 2 of the following: 2x3=6
8. What is patent?
9. Write the application of somatic embryogenesis.
10. Differentiate Somoclonal variations and Gametoclonal
variation.
IV. Answer any 1 in detail: 1x5=5
11. Write the applications of plant tissue culture.
12. Highlight the protocol for production of virus free meristem
tip culture.

Bio-Zoology
I. Choose the correct answer: 3x1=3
1. Identify the proper sequence in the organisation of eukaryotic
chromosome.
a) Nucleosome — Solenoid - Chromatid
b) Chromatid — Nucleosome — Solenoid

c) Solenoid — Chromatin — DNA
d) Nucleosome — Solenoid — Genophase

2. The RNA polymerase of prokaryotes binds with factor
to initiate polymerization.
a) rho b) theta c) sigma d) psi

3. Capping of mRNA occurs using ______.
a) Poly A residues b) Methyl guanosine triphosphate
c) Deoxy ribonucleotide triphosphate
d) Ribonucleotide triphosphate
II. Answer any 3 of the following: 3x2=6
4. What is meant by D loop and Anticodon loop?
S. What is meant by Multiple Alleles, explain?
6. What will happen if PAH gene gets mutated?
7. Write on any two features of genetic codes.
III. Answer any 2 of the following: 2x3=6
8. What is meant by Albunism?
9. What are the application of Karyotyping?
10. Write a note on HGP and its salient features.

IV. Answer any one of the following: 1x5=5
11. Write a note on Initiation and Elongation process of
translation.

12. Write a note on the structure of colour blindness.
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I. Choose the correct answer: S5x1=5

1. The conjugate of a complex number is —Lz Then the complex

number is
1 -1 -1 1
1) - 2) - 3) = 4) —
2. - 3 =2, then the least value of is
1) 1 2)2 3)3 4) 5
3.If and are the roots of x2+x+1=0 then 2020+ 2020 jg
1) -2 2) -1 3)1 4) 2
4. The principal argument of % is
-5 -2 -3 -
e 25 8 Y=
5. The amplitude of = =
1)0 2) > 3) _7 4)
II. Answer any 4 of the following: 4x2=8
(Q.No.10 is compulsory)
. Simplify: 12,
. Evaluate (z+ )2 if z=5-2i, =-1+3i

. If z1=1-3i, z2=-41 and z3=5 show that (z1 z2) z3= z1 (22 z3)
. Which one of the points i, -2+i and 3 is farthest from the
origin?
10. Fine Re(z) and im(z) if z=5i11+7i3
III. Answer any 4 of the following:
(Q.No.15 is compulsory)
11.If =3,showthat7< +6-8 <13

12. Write the polar form 3-i 3
18

6
14. Find the value of $_; ZT +
15. Find the cube root of -27.

O 0 N O

4x3=12

13. Simplify: -t

| N

IV.

16.
17.

18.
19.

20.

Answer any 3 of the following questions: 3x5=15
Show that 7§+E i + ;— 3 T 3

If 2 cos =x+-and 2 cos = y+l show that

i) —-—=2isin(m -n ) ii) + =2cos(m + )
If z=x+iy and arg % = -, show that x>+y2+3x-3y+2=0

r -2 =2, show the greatest and least value of are 3+1

and 3-1 respectively.
Let z1,20,23 be complex numbers such that z; =1, z, =2,
z3 =3 and z; +2z; +z3 =1, show that 9z,z; + 47,23 + 7,23 =6
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I. Choose the correct answer: 5x1=5
1. The unit of tesla

a) NA-'m!  b) NA2m=3 ¢)NAB3m?2 d)A3m=2
2. principle is used in Bain bridge mass spectrometer.

a) Magnetic Induction b) Electrostatic Induction

c) Velcotiy selector d) Magnetic Lorentz force

3. Which among the following is Galvanometer constant?
G=—L_ b) G=—_p8 G=NAB d) g=ME g
a) NAB ) NAB ) K ) K

4. In order to increase the range of voltmeter n times the value of
resistance to be connected in series with galvanometer is

a) [=V b) R=(n-1)G c¢) R=nG d) R=(n-1)S
5. An ideal ammeter has resistance.
a) zero b) 1 c) constant d) low

II. Answer any 4 of the following: 4x2=8

6. Consider a point charge +q placed at the origin and another
point charge -2q placed a distance of 9m from the charge +q.
Determine the point between the two charges at which electric
potential is zero.

7. What is the principle of cyclotron and moving coil
galvanometer?

8. Define one ampere.

9. Define Toroid.

10. Define the unit of magnetic field.

III. Answer any 4 of the following: 4x3=12
11. State and explain Magnetic Lorentz force.

12. The resistance of a moving coil galvanometer is made twice its
original value inorder to increase current sensitivity by 50% will
the voltage sensitivity change. If so by how much?

13. A parallel plate capacitor filled with mica having =5 is
connected to a 10v battery. The area of the parallel plate is 6m?2
and separation distance is 6mm. Find the capacitance and stored
charge.

14. Explain the conversion of galvanometer into voltmeter.

15. Derive an expression for cyclotron frequency.

IV. Answer any 3 of the following: 3x5=15

16. Explain the construction and working of cyclotron with
diagram.

17. Two conducting spheres of radius ri=8cm and r;=2cm are
separated by a distance much larger than 8cm and are connected
by a thin conducting wire as shown in the figure. A total charge of
Q=+100nC is placed on one of the spheres, after a fraction of a
second, the charge Q is redistributed and both the spheres attain

electrostatic equilibrium.
o B

Conducting wire

a) Calculate the charge and surface charge density on each
sphere.

b) Calculate the potential at the surface of each sphere.

18. Explain the conversion of galvanometer into ammeter.
19. Derive an expression for force on a current carrying
conductor placed in a magnetic field.
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I. Choose the correct answer: 10x1=10
1. P05 is extensively used as

a) reducing agent b) preservative c) oxidising agent

d) dehydrating agent
2. HCOOH + H»SO0s4 yields —

a) CO b) CO, c) SO2 d) SOs
3. is a poisonous gas with rotten fishsmell.
a) Phosphine b) H.S c) CO d) CO2

4. The molarity of given orthophosphoric acid solution is 2M. Its
Normality is
a) 6N b) 4N c) 2N
5. Which is true regarding Nitrogen?
a) least electronegative element b) d-orbitals available
c) has low ionisation enthalpy than oxygen
d) ability to form p -p bonds with itself
6. Cupellation is a process used for refining of

d) None of these

a) silver b) Lead c) copper d) Iron
7. Wolframite ore is separated from tinstone by the process of
a) smelting b) calcination c) Roasting

d) Electromagnetic separation
8. Gibss free energy change for electrolysis is given by
a) AG=FE°  b) AG’=-nFE°c) AG’=+nFE°d) AG=+FEO°
9. is the ore of silver.
a) Calamine b) Chlorargyrite c) Azurite d) Diaspore
10. In thermite process the reducing agent is
a) C b) Zn c) Na d) Al
II. Answer any S of the following: 5x3=15
11. What is calcinations? Explain with example.
12. Write a note on electrolytic refining with an example.
13. Give the limitation of Ellingham diagram.
14. Mention the application of Copper and Gold.
15. Complete the following equation:
K>Cr0O7 + 3SO;5 + HSO4 -
C,HsCOOH + Pclz -
NH>CONH: + H.0 -

16. Write the oxoacids of Phosphorous (any 3 with structure)
17. Explain the manufacture of Ostwald’s process of Nitric acid.
18. Distinguish white and red phosphorous.
III. Answer any 3 of the following: 3x5=15
19. Explain the structure of phosphine. What is Holmes signal?
20. a) Give two examples to show that SO, act as a reducing

agent.

b) How will you detect sulphate radical in qualitative analysis.

21. Explain the following:

i) Orthophosphoric acid is tribasic.

ii) Basic nature of pyrophosphoric acid.
22. Brief Ellingham diagram and its application.
23. Explain Hall-Harold process.
24. Differentiate froth flotation and gravity separation.
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I. gyTs; njupf: 4x1=4

1. §f ht pndRYffphdk;Mdig"  «
czu;j;Jk; nghUs;

m) Nghu;f;fUtp M) jr;Rf;fUtp ,) ,irf;fUtp
<) Ntshz;fUtp
2. Rujh elj;jpa ftpij ,jo;
m) ,yfifpak; M) fhtp ak; ) Cu;tyk; <) tpz;kPd;
3. ¢Njd; ki ofE vd; Dk; E}iy ,aw; wpatu;
m) ghujpahu; M) ftpkzp ,) Rujh <) rp.kzp
4. ts;spNahu; vd;gjd; nghUs;
m) ghJfhtyu; M) ts;sy;fs; ,) kd;du;fs;
<) typikAilNahu;
II. njhlupy; cs;s gpiofis ePf;fp vOJf: 2x1=2

5. vq;fy; Cupy; E}ff; fl;blk; fl;l mwR epjp xJf;fpad.
6. khzk; ghu;j;j G+kpapy; gapW tiffs; gapuplg;gl;1J.
II1. gpd;tUk; Mq;fpyr; nrhw;fSf;Nfw;g fiyr;nrhw;fis jUf:

4xYe=2
7. Passport 8. Conveyor belt Visa 9. Visa
10. Domestic flight
IV. gpd;tUk; nrhy;iyg; gpupj;Jk ; Nru;j;JKk; njhluikf;f: 1x2 =2
11. ntq;fhak;

2x2=4

V. gpd;tUk; tpdhf;fSs; vitNaDk; ,uz;|Df;Ff; FWtpil jUf:
12. trdk;> ftpij NtwghL jUf.

13. vj;jpirapYk; NrhW jli;Ihd fpl;Lk;
14. vJ Gfo;> vJ nry;thf;F?

- ahUf;F?

s, Jsnjhlupy,; ¢f

yd,;

1x 4 =4

xd;wDf;Fr; rpWtpil jUT:
¢ t h a-wdy wjlg\Fk; Ksitahupd; GwehD}w;Wg;ghly;
£ ghlhz; jpizf;F cupad vd;gij epWTHT.
16. 8%d; whd f hy kyit? M@ tpsfEf.
VII. gpd;tUk; tpdhf;fSs; VNjDk; xd;wDf;F neLtpil jUf1

Ntz;Ltdthfr; Rujh $Wtdtw;iw tptupf;f.
t pgj ; j-m$wWeldthf ehkijnlap o ; e h L £

VI. gpd;tUk; tpdhf;fSs; VNjDK;
15.

xd; W"
X 6 =6

17. ftpij vOj mwpa
18. ¢rhiy

Ntz;bad ahit?
VIII. mbgpwohky; vOJf: 1x 4 =4
19. ¢ mwp T.E-;vdj; GhlgFk; GwehD}w;Wg; ghliy vOjTk;.
IX. yf;fzf; Fwpg;G jUf: 2x1= 2

20. milah 21. mwpTk; GfOKk;
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I. Choose the correct answer: 10x1=10

1. Which of the following statement is not correct?
a) A list is mutable b) A tuple is immutable
c) The append( ) function is used to add element
d) The extend( ) function is used in tuple to add elements

in a list
2. Choose odd one out:
a) append() b)range() c)extend() d) inert()
3. The elements of list can be .
a) replaced b) added c) removed d) all the above

4. How will you change the list element?
a) Assignment operator  b) Backslash operator
c) Escape Sequence d) Boolean Operator
5. What is the output of the snippet?
>>> mylist =[34, 45, 48]
>>> Mylist.insert(2,90)
>>> print (Mylist)
a) [90, 34, 45, 48] b) [2, 90, 34, 45, 48]
c) [34, 45, 48, 2, 90] d) [34, 45, 90, 48]
6. Which value is optional argument in the range( ) function?
a) start value b) end value c) step value d) none
7. creates a sequence of elements that satisfy a certain
condition.
a) list  Db) list comprehension c) sets d) Dictionary
8. Creating tuple with one element is called tuple.

a) single b) one c) singleton  d) only one
9. The key is a python dictionary is separated by a
a), b) ; c): d) /

10. Key in the dictionary must be .
a) value sensitive b) variable sensitive
C) case sensitive d) none
II. Answer any 4 of the following: 4x2=8
Q.No.14 is compulsory
11. What feature is used for membership testing?
12. Define ‘Single Tone’ Tuple.

13. What is nested tuples?

14. What is sum( ), min( ), max( ) function? Write syntax.

15. What are the various types of delete statements?

III. Answer any 4 of the following: 4x3=12
Q.No.20 is compulsory

16. What are the advantages of Tuple over list?

17. Write a short note about sort ().

18. How will you create list in Python? Give an example.

19. How to delete element from a list? Give an example.

20. How will you update tuple?

IV. Answer any 2 in detail: 2x5=10

21. What is the purpose of range( )? Explain with eg.

22. Explain in detail about reverse indexing with eg.

23. How will you access adding, modifying and deleting elements

from a dictionary?
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I. Choose the most appropriate synonyms of the underlined word
from the options given below: 4x2=2
1. Then as trade slackened we went over.
a) blackened b) brightened c) decreased d) hastened
2. My interest was again provoked by their remarkable
demeanour
a) behaviour b) sight c) strength d) size
3. This is one of the most controversial points of all
a) suitable b) unquestionable c) peaceful d) disputable
4. There is also the mysterious social etiquette
a) obvious b) incomprehensive c) visible d) apparent
Choose the most appropriate antonyms of the underlined word

from the options given below: 4xY2=2
5. One boy had on a worn jersey and cut off khaki pants.
a) torn b) old c) faded d) new

6. He glanced at us hopefully.
a) positively b) confidently c) doubtfully d) keenly
7. Not the flat, shallow type..............

a) narrow b) wide c) deep d. direct
8. which are not to he despised.

a) hated b) liked c) respected d. defeated
Fill in the blanks with suitable homophones or confusables: (1)
9. This terrible customer service cannot be (born/borne)
Choose the correct phrasal verb from the options given below
and fill in the blanks: (1)
10. Reporters who visited the team’s training ground were

a) put off b) draw up c) took off d) turned away

Fill in the blanks with a modal verb: (1)
11. Hima Das ran so fast that she win the medal.
Fill in the blanks with a quasi verb: (1)
12.1 to play hockey when I was a student.

Fill in the blanks with the suitable prepositions: (1)
13. A boy ran the bridge when the river was dry.

Fill in the blanks with appropriate correlative conjuction: (1)
14. Ramya is a good singer a good dancer.
I1. Do as directed: 2x1=2
15. Teacher: Why are you late?

Divya : I missed the bus.

Teacher: You should have reached the bus stop on time.

Divya: My grandmother is ill. So, I had to take her to the
doctor.
Teacher: I am sorry. What ails her?
Divya: She has high fever.
(OR)
Fill in the blanks with suitable prepositional phrase: 2x1=2
16. Expressing gratitude others is common in a vote of
thanks.
17. his laziness, the boy remained passive for a long time.
III. Read the following sets of the poetic line and answer the
questions below: 6x1=6
“Our gates were strong, our walls were thick,
So smooth and high, no man could win.”
18. How safe was the castle?
19. What was the firm belief of the soldiers?
“A little wicked wicket gate”
20. Mention the figure of speech in the above given line.
“When first my casement is wide open thrown
At dawn, my eyes delighted on it rest;
Sometimes, and most in winter, - on its crest
A gray baboon sits statue-like alone
Watching the sunrise; while on lower boughs
His puny offspring leap about and play;”
21. What gives delight to the poet?
22. What does the gray baboon do sitting there?
23. What is the figure of speech used in the fourth line?
IV. Explain any one of the following lines with reference to the
context. 1x3=3
24. It is the trees lament, an eerie speech...........
25. We could do nothing being sold
V. Answer any 2 of the following in three or four sentences each:
2x2=4
26. What made the boys join the resistance movement against
the Germans?
27. Why does the author refer to himself as being in a ‘minority’?
28. Why does the author advise removing cream from the milk?
VI. Write a paragraph of 100-150 words of any one of the
following: 1x5=5
29. Water is the elixir of life. Substantiate the statement with
reference to the story of ‘Life of Pi’.
30. Discuss how the essay reveals the factual points and the

author’s personal opinions on the preparation of tea.
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I. Choose the most appropriate synonyms of the underlined word
from the options given below: 4x2=2
1. He shrugged his shoulders to convey his disapproval
a) bent b) shook c) drooped d) raised
20 i the other a shortened army tunic gathered in loose
folds about his skinny frame.
a) strong b) beautiful c)lean d) fat
3 under the spout to catch the stray leaves.
a) fresh b) loose c) gathered d) harmful
4. One is liable to put in too much milk.

a) likely b) certain  c) eager d) responsible
Choose the most appropriate antonyms of the underlined word
from the options given below: 4xY2=2

S. Predicting the arrival of visitors
a) journey b) departure c) migration d) perusal

6. Nicola answered seriously.
a) cunningly b) casually c) extremely d) utterly
7. Jacopo was lively as a squirrel.

a) dull b) bright c) active d) sparkling
8. which are not to he despised.

a) hated b) liked c) respected d) defeated
Fill in the blanks with suitable homophones or confusables: (1)
9. Rajputana is very poor in production

(industrial / industrious)

Choose the correct phrasal verb from the options given below
and fill in the blanks: (1)
10. We turned a corner and an old church.

a) draw up b) came upon c) stand by d) bank on

Fill in the blanks with a modal verb: (1)
11. I wish you tell me the truth.

Fill in the blanks with a quasi verb: (1)
12. You help the needy.

Fill in the blanks with the suitable preposition: (1)
13. Yuvan has been studying well childhood.
Choose the appropriate linker from within the brackets and
complete the sentence: (1)

14. We fail to harness the rain water,
(consequently/nevertheless) we suffer.

II. Do as directed: 2x1=2

15. Priya: Where are you going?

Vijay: I am going to the railway station.
Priya: Why are you going there?
Vijay: I want to receive my uncle who is coming from

Bangalore.
(OR)
Fill in the blanks with suitable prepositional phrase: 2x1=2
16. Our teacher always acts her students.
17. rain, take an umbrella.
III. Read the following sets of the poetic line and answer the
questions below: 6x1=6

‘All through the summer at ease we lay,
And daily from the turret wall
We watched the mowers in the hay.
18. How did the soldiers spend the summer days?
19. What could they watch from the turret wall?
‘Our only enemy was gold’
20. Mention the figure of speech in the above given line.
“ Mayst thou be numbered when my days are done
With deathless trees-like those in Borrowdale,”
21. What is ‘Borrowdale™
22. What is the allusion referred here?
s But gallantly
The giant wears the scarf, and flowers are hung
In crimson clusters all the boughs among,
Whereon all day are gathered bird and bee;”
23. What does ‘crimson clusters’ mean?
IV. Explain any one of the following lines with reference to the
context. 1x3=3
24. I will maintain until my death.
25. “A gray baboon sits statue-like alone”
V. Answer any 2 of the following in three or four sentences each:
2x2=4
26. What were the various jobs undertaken by the little boys?
27. According to the author, what does the phrase ‘a nice cup of
tea, refer to?
28. Whom does the author call ‘misguided people’? What is his
advice to them?
VI. Write a paragraph of 100-150 words of any one of the
following: 1x5=5
29. How did the presence of Richard Parker influence the attitude
of Pi?
30. Summarise George Orwell’s distinctive ideas in “A nice cup of

”»

tea”.
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I. gyTs; njupf: 2x1=2

1. nghUj;Jf:

m) ghiy ghbdhd;
M) ghiyg; ghbdhd,;

- 1) Njiu vd;Dk; capupdj;ijg; ghu;j;jhd;
- 2) Njupidg; ghuij;jhd;
») Njiu ghu;j;jhd; - 3) ghypidg; ghbdhd;
<) Njiug; ghu;j;jhd; - 4) ghiyj; jpiz ghbdhd;
m)4>1>3>2M)2>3>1>4 )4>3>1>2 <)2>4>1>3
2. tw;iw thapYf;Nf nrd;W ,d;Kfj;JId; tuNtw;ghahf vd;W
[yhYjPd; &kp Fwpg;gpLtI> .
m) tf;fpuk; M) mtkhdk; ,) tQ;rid <) ,it midj; Jk;

II. VNjDK; xd;wDf;Fg; gpupj;Jg; Gzu;r;rp tpjp jUf: 1x2 =2

3. mUg;fhdk; 4. tpUe;Njhk;G

III. VN]jDk; xd;wDf;Fg; gFgj cWg;gpyf;fzk; jUf: Ix2 =2

5. kwjijy; 6. je;jdd;

IV. ty;ypd nkafis ,I;Lk; ePf;fpAk; vOJf: 2x1=2

7. vd;Dila ek;gpf;if KOtINk Gjpaj; jiyKiw kPJjhd;; mitu;fs;
vy;yh gpur;rpidfisAk; xU rpg;fj;ij Nghy vjpu;nfhz;L
jPu;g;ghu;fs;.

8. jha;top FLk;gq;fspy; ngz;fNs Fynjhlu;r;rpf;F cupatu;fs;.
V. nghUj;jkhd Ntw;Wik cUGfisr; Nru;j;J Kiwahd njhlu;fshf
Mf; Ff: 2x 1 =2
9. thiy vOe;J gbj;J ekf;F ed;ik Vw;gLk;.
10. midtu; md;G mioj;jtd; Jd;gk; ju ahu; kdk; tUk;.
VI. gpd;tUk; tpdhf;fSs; vitNaDk; ,uz;|Df;Ff;; FWtpil jUf:

2%X 2 =4
11. Qhyj;jpd; ngupad vJ?
12. Gfifpy;> jd;kid  «  rpWFwpg;G vOJf.
13. tk;gu; ,aw;wpa ,uhkhazj;jpYs;s thz;lq;fis v OJf.
VII. gpd;tUk; tpdhf;fSs; VNjDk; xd;wDf;Fr; rpWipil jUfl X 4 =4

14. rIhAitj; je;ijahf Vw;W>  uhkd; Mw;wpa flikia vOJf.
15. jha;topf; FLk;g mikg;gpy; Mz;> ngz; MfpNahUf;F cupa
epiyg;ghl;bid tpsf;Ff.

VIII. gpd;tUk; tpdhf;fSs; VNjDk; xd;wDf;F neLtpi | jUT:

1x 6 =6
16. gz;gpd; gbkkhfg; gilf;fg;gl;| ,uhkd;> gpw capu;fSid;
nfhz;bUe;j cwT epiyiag; ghlg;gFjp top epWTHT.
17. rpdj;ijf; fhj;jy; tho;it Nkd;idg;gLj;Jk; - F$w;iw Kg;ghy;

top tpupj;Jiuf;f.
VIII. mbgpwohky; vOJf: 442 =6
19. ¢-Jvdj;njBldFk; fk;guhkhazg; ghly;.
20. ¢ gdlLKkAK;&~wl;gh.
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I. Choose the correct answer: Sx1=5
1. Which is a Flow concept ?

a. Number of shirts

c. Monthly income
2. The Financial year in India is .

a. April 1 to March 31 b. March 1 to April 30

c. March 1 to March 16 d. January 1 to December 31
3. Identify the Father of Socialism.

a. Keynes b. Karl marx c¢. Adamsmith d. Samuelson
4. Identify the other name for Macro Economics

a. Price theory b. Income theory

c. Market theory d. Micro theory
S. The GDP estimates for India varies from .

a. 2 to 4 trillion b. 3 to 5 trillion

c. 1 to 3 trillion d. 2 to 5 trillion
II. Answer the following: (any 3) 3x2=6
6. Define National Income.
7. What is mean by double counting?
8. What do you mean by Capitalism?
9. Define Circular flow of income.
10. What is meant by Flow Variables?

b. Total wealth
d. Money supply

III. Answer the following: (any 3) 3x3=9
11. Draw the Flow Chart of functioning of an economy Based on
Activities.

12. Distinguish between Capitalism & Globalism.

13. Write briefly about national income & welfare.

14. List out the uses of national income.

15. Write the precautions of Expenditure method.

IV. Answer the following: (any 2) 2x5=10

16. Discuss the various methods of estimating the national
income of a country.

17. Nllustrate the functioning of an economy based on its
Activities.

18. Explain the demerits of Socialism and the features of mixed
Economy.
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I. Choose the correct answer: 5x1=5

1. system gives full scope to the individual strength and

responsibility.

a. MBO b. MBE c. MBA d. MBM

2. keeps management alert to opportunity and threats by
identifying critical problems.

a. MBO b. MBE c. MBM d. MBA

3. When trainees are trained by supervisor or by superior at the job
iscalled ___ training.
a. vestibule b. Refresher c. Role play d. Apprenticeship

4. Elaborate discussion on specific topic comes under method
of training.

a. Conferences b. Coaching c. Counselling d. understudy
5. Off the job provides approach.

a. Theoritical b. Practical c. Positive d. Negative

II. Answer any four of the following: 4x2=8

6. What is known as KRA?

7. Mention 2 Advantages of MBO.

8. What is Role play?

9. Where to conduct the training programme?

10. Define training.

11. State e-learning method?

III. Answer any four of the following: 4x3=12
12. What is vestibule training?

13. Write short note on trainer and trainee?

14. What is off the job training?

15. Define MBO, according to George Odiorne.

16. Write the features of MBO.

17. Discuss the disadvantages of MBE.

IV. Answer any 3 of the following: 3x5=15
18. Explain any 5 process of MBO.

19. Difference between on the job training and off the job training.
20. Explain the benefits of training.

21. Explain off the job training methods.



